Physics
Examination V


For this examination, you may use your book, notes, the Internets and other resources but you may not use other individuals. Be sure to answer each question fully and completely using nouns, verbs and –ly words to document your path to solution. Include your Name, Date, Period, and Assignment Name.

1. Assuming that in Chapter 4 Lab I you determined that one penny was 2.975 grams, answer the following:

a) the weight of seventy seven pennies.

b) the mass of $715.67.

c) the amount of money that has a weight of 236 N .

2. What is the minimum length runway needed to accommodate airplanes that can accelerate uniformly at 23.745 m/s2 and must reach a ground velocity of 123.7 m/s before they can take off?

3. Compare and Contrast Petals, Roses or Roots with Bears, or Fish. Use the samples below in your analysis
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4. Add these vectors:
a) 101 N at 233 degrees and 77 N at 88 degrees.
b) 23 m/s at a Bearing of SW and 7.7 m/s at 321 degrees.

c) 12 m at 47 degrees, 15 m at 121 degrees, and 44 m at 246 degrees

5. What is the component of the force down the ramp for a 456 gram object on an inclined plane tilted at 29 degrees?

6. Solve Casey's equation for L.
7. Given these settings, what is the minimum angle needed for the block to slide down the ramp and what values are obtained when that happens?
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8. A sled with a mass of 49.7 kg is pulled along flat, snow covered ground. The static friction coefficient is 0.29 and the kinetic coefficient is 0.11.
a) Model this in IP.
b) What is the weight of the sled?

c) What force is needed to start the sled moving?

d) What force is needed to keep the sled moving at a constant velocity?
e) Once moving, what total force must be applied to the sled to accelerate it at 2.9 m/s/s?
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